Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, a
in chromaticity diagram (p,(F,M), d,(F.M)) P2g=2- Boﬁqu\rl 0

Ga(F.M) = ap(F)-0(M) %=0.0,B=1.0
Po=PaB3,075Tx-x0)-2,5702y-0,0960]y
-2,2 A 4m0y1,9907(x-x)+3,8617y-2,4046y
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Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, ai
in chroma diagram (p* (F,M), g% (F,M))

q*%(FM) = ¢y [0(F)~(M))] = ¢y Gp(FM) %=0.0,B;=1.0,6,=0,01Y 0341
Po=PagB3.0757x-x))-2,5702y-0,0960]

Poge2. soe,qzurl 0

0=l 1,9907 (x-x)+3,8617y-2,4046]y

P%(F.M) =cy py(F.M)

-
L

Po(F)-p,(M) \ = Cy [Po(F)-p(M)]
2,00 2,00 \/ Po(F.M) q,(F,M) V p5(FM) a*%,(F.M)
0.0 0.0 1 0.0 0.0
2 0.0 0.0 2 0.0 0
3 0.0 0.0 3 0.0 0.0
4 0.0 0.0 4 0.0 0.0
5 0.0 0.0 5 0.0 0.0
-2,00. 6 0.0 0.0 - 6 0.0 0.0
Xy = 0,313 700 00 X =0313 7 00 00
8 00 0.0 Y =0324 8 00 0.0
ym =0.324 9 0.0 0.0 9 0.0 0.0
M 00 0.0 Yy = 25,30 M 00 0.0

Yy =2530,(F, M) =
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Munsell (Renotation)Chroma C = 2 and ValueV = 1,
in chromaticity diagram (p, (F,M), g,(F,M)) P20=2- 806,q2‘r1 0
Gy(F.M) = a(F)-ap(M) %:=0.0,8.=0.8
Py=PacBel3.075Tx-x)~2,5702y-0,0960

Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, ai
in chroma diagram (p* (F,M), g% (F,M))

(FM) =y [0(F)=(M))] = ¢y p(F,M) %:=0.0,B;=0.8,c,=0,91Y 0-341
P2=PagB3.0757x-X))-2,5702y-0,0960]

Pog2. 806,q2[r1 0

-2,2 l 0p=0pf1,9907 (x—x.)+3,8617y-2,4046] 2,2 0p=0p[1,9907 (x—x)+3,8617y-2,4046]f/
. ,00 . + 2,00

P%(F.M) =cy py(F.M)
a Po(F)-p,(M) Fos =y [Po(F)=Po(M)]

£2,00 2,00 \/ DZ(F M) ay(F.M) 4400 Ju0] V p%(FM) a*%(F.M)
0.0 1 00 00
2 U U 0.0 2 0.0 0.0
3 00 00 3 00 00
4 00 00 2 00 00
=200 § 00 oo 2,00 § 00 00
wy = 0,313 ! 700 00 a =0313 ! 7 00 00
M 8 00 00 iy = 0324 8 00 00
Y = 0,324 9 00 0.0 M =0 9 00 00
M 00 00 Yy =25.30 M 00 0.0

Yy =2530,(F, M) =

CiEimen
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